


(ii) Differential Icbelig
(iv) Reciprocal leveling
,’

e following notes re
Inst. at ﬁ
P 824 2.748 | Distance between Pand Q = 1010 m
0928 | 1.606 “ RLof P=126386
Find :
(i) TrueR (ii) The com correction for curvature and refraction and
(iii) The error in the collimation adjustment of the instrument. (08 Marks)
le-4 &
a. [Explain with neat sketch, the pro re for,
(i) Radiation method ¢ 63' ;
(i)  Intersection ’:@? and A
(iii)  Traversing in plane table suryeying (09 Marks) i
b. State and explain solution to two-point pmb]%‘ ? 4 (08 Marks) '
c. Define Rﬂ-&ectinEQy 4 % & (03 Marks)
a. State and explﬁgolutic-n to three %’mﬁmbl&m, P (10 Marks)
b. List the advantages, disadvantages and-errors in planeﬂ&ﬁfhle surveying. (10 Marks)
" ~ UModule:s 47
a. Discl.@'l methods for determining areas and volume. (08 Marks)

Define a contour. List th%use_ggé'f contour maps. ¥ (04 Marks)

b.
c. Ehe following perpendiéular-offsets were taken from a chain line to a hedge:
ainage (m) | 0 Ags 30 [45 |60s]70 [80 [100] 120 140]

ffsets (m) [< 1071128106 | 95|83 |79 |64 |44
Calculate the area k en survey line, the hedge and end offsets by,

(i) Trap@ al rule. ‘\"‘ﬁl} Simpson’s rule. (08 Marks)

5 S OR
a. What are the characteristic :%fc%ntnur? Explain with sketches. (07 Marks)
b. List .the methods of com‘ Explain briefly. (05 Marks)
c. A railway embankment4 long is 12 m wide at the formation level and has side slope of

2to 1. The ground levels at every 100 m along the centre line are as under.
istance (m) | 0 100 | 200 | 300 | 400 |
R.L (m) 204.8 | 206.2 | 207.5| 2072 | 2083

| at zero chainage is 207.00 and the embankment has a risi i
: \ sin ient of
1 in 100. The ground is level across the centre line. Calculate the volume of eartﬁ fr:fk by,

(1) idal formula. (ii) Prismoidal fo
AL rmula. (08 Marks)
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